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1.The length of AE is 2V 2 in the figure shown at_l
left. What is the length of BE?
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2.Wht is the length of XVin the figure shown at \
left?

A. 6
B. 43

C. 6V2
D. 12

A IRl S8 A ™1 A W= A JLEE PR T TH A S S == s o ALY, A ]




<
l%ﬁ%(__)_}__?%gg .......................... « www.koolearn.com

3.In the figure above, FH has length 12, JK has \
length 7, and the measure of
angle «FGH is © radians. It is given

thatgztan(O.GZ)mcot(0.95)zsin(0.80)zcos(0.78).
Approximately what is the value of O in radians to
the nearest hundredth?
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4.In the figure at left, line segment AB is vertical_l
and BC is horizontal. Line segment BT has
length 9 and is perpendicular to AC. The length
of BCis 15. Approximately what is the value of h,
to the nearest integer?
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5.What is the value of xx in the figure shown at
left?
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6.What is the value of xx in the figure shown to j
the left?

A. 33

B. 12
C. 18
D. 12V3
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7.Given that %ztan(42.7o)zsin(67.4o)zcos(22.60), \

approximately what is the value of «, to the
nearest integer?
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8.The length of AE is 3V 3 in the figure shown at
left. What is the length of AB?
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9.The length of AB is 20 in the figure shown at
left. What is the length of AE?
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10.What is the value of x in the figure shown at
left?
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11.What is the value of x in the figure shown at
left?
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12.What is the value of x in the figure shown _I
above?
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13.What is the measure in degrees of ZLMLN in _l
the figure shown at left?
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